Study Guide- Unit 5

Hint: List the type of compounds you are naming, then name the compounds!
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6. Calculate the percent composition of each element in the the following compouti
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7. Calculate the mass of the element in the given mass of compou " ‘
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8. Calculate the percent composition of the compounds that are formed from these reactlons 12.03 g of
Magnesium combine completely with 7.48 g of Oxygen.
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9. Determine the molar masses for e:L compiund Show all work!
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10. How many molecules are present in 150.5mL of nitrogen dioxide gas at STP? [you need to write out

the formula and change ml into L (1000ml=1L)] 2% LS
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11. How many formula urlts are in 250.0g of Calcium Sulfate? (you need to write out the formula)
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12.If you have 52.5 x 1022"atoms of this hexachlorine trioxide, how many lfggre present? 7 [you need to
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14. Calculate the percent composition of magnesium in Mg COs $U.5L
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15. Calculate the percent composition of nitrogen in Co(NO3)3
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